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Find the corresponding reference angle.
01as 2 2es 317 4. 243¢
m, _W
i . e g i, o - { - RS 2o AL s
5. 34° 6. 274° 7. 100° 8. 226°
ﬁ
m
9. 132¢ Wa. 337° 11. 78° 12. 268°
T e B ]
13. 306° 14, 52° 15. 197¢ 16, 176°
Find the exact value for each trigonometric function.
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Find the exact value for each trigonometric function.
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Given a point on the terminal side of &in standard position, find the exact value of the six

trigonometric functions of &.
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cotd = secd = sind = csc 8 = tand = cosd =
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csc b = catd = secd = cosd = tan & = sind =
3. P(3, -8)

tan & = sec & = csc & = sind = col @ = cos & =
4. 709,-9)

cotd = cosd = tan8d = sind = sec & = cscd =




Given the quadrant and one trigonometric function value of &in standard position, find

the exact value of the trigonometric function.

; Quadrant I 12. Quadrant I1II

| tand =2 cse & = tan& = 4 sin& =
3, Quadra:nt v 4. Quadrant I

ﬁ cotd = -6 cos & = cotd = 8 sec & =
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. tand =35 csc 8 = coté = -3 sin& =
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| cotd =2 tan"? - tan&d = -2 cotd =
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| tand =2 secé’ cotd = -3 secd =
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E cotd = 1 cos 8 = cotfd =1 sec 8 =
3. Quadrant IT {14. Quadrant IV

' tan & = -2 csc & = . cotd = -2 sec & =

Two trig functions are given. Find the exact value of the function requested.

1. cosf = %,sin@ > 0, find tané.
1

2. sin@ = 410 cos@ <0, find coté.

3. tanf@ :?,cosﬁ <0, find siné.

4. sin@= %,cos@ >0, find tané.




